B C A+B+C
3,786 1717 222 5,725
8,806 8,489 316 309 349 8300] =
8,806 8,489 316 309 8,300
2,214 2,286 73 939 186 4,255 2,851
323 269 54 312 26 2,236 199
5 4 0 0 1
2,339 2,264 75 75 153 ES
249 246 3 3 20
192 192 0 0 50 682 344
453 453 0 0 173 1,954 1,885 4
1,048 1,048 0 0 536 10,254 8695 ' ,,
1,415 1,357 58 58 198
410 409 0 0 261
1,387 19,381 13,974
(
1,846 1,695 151 151 8 4,380 302
1 1 0 0 0
26 23 3 3
5 4 1 1
4 3 0 0
1,881 1618 262 62 96 603 128
11,738 11,624 114 114 2,690
75 71 3 3
470 455 15 788
114 98 16 16
420 397 23 23
161,139 155,554 5,585 5,580
6,741 4,983 430
0 54 5 604
15 40 14
186 292 13 27
32 27 604




19 20
A B B-A
1122 836 286
129 129 0
1413 1,332 81
2,663 2,298 365
19 20 19 20
A B B-A B-A
5.15 5.40 0.25 14.58 20.00
27.36 29.64 2.28 19.58 40.00
152 156 04 250 350
1194 1253 5.9 350.0
0.58 0.61 0.03
99.8 99.9 0.1

20

20




